Linearne nejednadžbe

1. Riješiti nejednadžbu 
[image: image1.wmf]2

3

3

)

1

x

2

(

6

1

)

1

x

2

(

)

1

x

2

(

+

-

³

+

-

-

.

Rješenje: 
[image: image2.wmf]÷

ø

ö

ê

ë

é

¥

-

Î

,

8

1

x


2. Riješiti sustav nejednadžbi 
[image: image3.wmf]5

3

4

2

1

y

5

1

y

2

-

+

³

-

, 
[image: image4.wmf]6

7

y

2

7

2

y

3

+

£

+

.

Rješenje: 
[image: image5.wmf](

]

39

,

y

¥

-

Î


3. Riješiti nejednadžbu 
[image: image6.wmf]0

6

x

7

x

2

<

+

-

.

Rješenje: 
[image: image7.wmf](

)

6

,

1

x

Î


4. Riješiti nejednadžbu 
[image: image8.wmf]3

x

1

2

x

2

-

£

+

.
Rješenje: 
[image: image9.wmf](

)

(

]

8

,

3

2

,

x

È

-

¥

-

Î


5. Riješiti nejednadžbu 
[image: image10.wmf](

)

(

)

(

)

(

)

0

7

x

3

x

5

x

3

1

x

2

>

-

+

-

-

.
Rješenje: 
[image: image11.wmf](

)

7

,

3

2

1

,

5

3

x

È

÷

ø

ö

ç

è

æ

-

Î


_1505024392.unknown

_1505024698.unknown

_1505024717.unknown

_1505024809.unknown

_1505024707.unknown

_1505024425.unknown

_1505024695.unknown

_1505024407.unknown

_1505024367.unknown

_1505024371.unknown

_1505024307.unknown

